>
A & 0l & AF 2 E A A
2N s3I
HE: YRS I B (SYHLLM/5Y - 55)
ool MsH MR 2E (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=& 46,255,857 66,131,154 A 19,875,297
= 5,028,029
s 23,161,000
J| 667,961
< 17,398,867
2= WY S (sHN LA/ - 5F) 13,131,832 12,942,128 189,704
= 3,403,366
J| 667,961
< 9,060,505
AsdE HAA 2= 1,198,580 696,500 502,080
MsE A FA 394,080 150,000 244,080
308 XXIEHH SOl A 394,080 150,000 244,080
10 SII 2 SOICHEHE & X 2 & A I 394,080 150,000 244,080
Ot sE AddAs 24 - 29 394,080
sZE 3sH =4 154,000 354,000 200,000
308 XX EHH SOl A 154,000 154,000 0
01 HXNHHNBHEELS 154,000 154,000 0
sE0ts 224 & 154,000
Oesge s &g N3 540,000 0 540,000
308 AXIEH SOl A 540,000 0 540,000
01 HIXNHHNBNEES 540,000 0 540,000
O&d=sgel s HU N 540,000
SsZEMEs20ts 2N B30 &8 XA 110,500 132,500 A 22,000
201 L2l 13,000 20,000 AT7,000
01 At 2t 2l 13,000 20,000 A7,000
O=sZHEgs2d0S 2XNH 30t & & 13,000
308 XX EHH SOl A 37,500 37,500 0
01 HXNHHBHEELS 37,500 37,500 0
OZS0s dEE 37,500
403 MtXSHHS A= 0l& 60,000 75,000 A 15,000
01 XM A=2E X 60,000 75,000 A 15,000
OZ¥S0ts edEE 60,000
sggAIL A5 6,102,961 8,681,500 A 2,578,539
= 1,217,000
J| 667,961
< 4,218,000
=g =& F¥Y =2 AMFA 135,000 142,000 A7,000
201 Let24E] 40,000 40,000 0
01 At 22l 20,000 20,000 0
OZd=s&E AHuAs 29I 10,000




2N s3I
HE: A AW FA(SYHLLL/SY - 5E)
el AL 2 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZEE d=2sduzgols 23 10,000
03 &AL Gl 20,000 20,000 0
OE=2 sguFs JZXH 20,000
202 O4dl 45,000 47,000 A 2,000
01 = LH 4 Hi 18,000 20,000 A 2,000
OANMER L s F=tol 18,000
03 =L R 27,000 27,000 0
O=sZAHM AP =& 27,000
203 YR =&l 50,000 55,000 25,000
03 AIMZ=XH 2 =AH| 50,000 55,000 A5,000
Os=4ay Y =2 A =4 50,000
S Jlgo AMEH(ZD) 180,000 200,000 A20,000
= 90,000
= 90,000
307 glz2tol & 180,000 200,000 A20,000
= 90,000
S 90,000
02 It MAMHEE 180,000 200,000 A20,000
O=gu Jlg2t AAHZ3S 180,000
= 90,000
< 90,000
ANeEctel extate 2435 X2 (6Rags NFZ2) 1,022,600 994,000 28,600
229 2 BI(2D)
= 527,000
= 495,600
307 glz2tol & 1,022,600 994,000 28,600
= 527,000
< 495,600
02 It HAMHEE 1,022,600 994,000 28,600
O6xtetd st NFEZZIY 2 L &It 1,022,600
= 527,000
< 495,600
ANectel extared 2483 X2 (6Xargsr X224 )( 780,000 585,000 195,000
=1)
= 600,000
< 180,000
403 MHXHHSA=0l& 780,000 585,000 195,000
= 600,000
< 180,000
01 HXSHMA2E X 780,000 585,000 195,000
O6xt&tH 3 XIREH 780,000
= 600,000
< 180,000
SESSFMY 248 XA 28,000 35,000 A7,000




2N
X ZH -
L= B

el

=31
YA WA FA(SHUHY /5 - &)
SR AE

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 as= HlnE2
Ol & o
308 XXM SO0 A 28,000 35,000 A7,000
01 AXNSGHBLAEES 28,000 35,000 AT7,000
OQEALH RESHE &= 28,000
SESSEAYE OHAE N2 35 200,000 200,000 0
307 2Iztol ™ 200,000 200,000 0
02 RIZFE MM E X 200,000 200,000 0
O==8=sgad OHAE XL 200,000
SEXNE SEMLSXE(HE) 2,122,000 0 2,122,000
202 oddl 6,000 0 6,000
01 = LH o4 1l 6,000 0 6,000
O=ZsS=Sgadst ZEALE(Hs) 6,000
308 XXM SO0 20,000 0 20,000
10 37/ 2S0HUHeBHEAEALS I 20,000 0 20,000
SESSEEHs SEHLE (M) 20,000
403 MtXISHHE =0l & 2,096,000 0 2,096,000
01 XM A=2EE 2,096,000 0 2,096,000
OAIRE Il H (M) 462,000
OHXZE AcHIIR SEIHSAE (M 600,000
OZEUAME IIBAE XA (XNsEH) 284,000
OsAE(2Y) MZEII3 AEX S (&) 250,000
OBEZMIHAUF AKX ISAEXA(HE) 500,000
SFEMARH ALY (M 2) 907,000 0 907,000
403 XSS A0l & 907,000 0 907,000
01 XS M A=2EE 907,000 0 907,000
OZSAMNTLSHR SELAASHAY (HE) 200,000
OZE2E FEMNLASHAS (HEH 157,000
OLFAL SFEAMAS LAY (M E) 200,000
OEXMYEBCIY SHEMASHAYG (HEH) 350,000
sXolgael X3 5,400 6,000 A 600
202 O4dl 5,400 6,000 A 600
01 = LHA YI 5,400 6,000 A 600
OsX&EE ¥ 5t S dREY 5,400
sxo0lg22 XA (2D) 386,346 0 386,346
b 386,346
308 XXM SO0l A 386,346 0 386,346
| 386,346
01 IXNHHBNEES 386,346 0 386,346
Oskolg2el XN& 386,346
J| 386,346
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2N s3I
HE: YRS B FY(SYHYLM/5Y - 55
SHel: SEIIXIG Ao B s CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sESA4 28 NE 67,200 84,000 A 16,800
308 AHAIEHHSOIA 67,200 84,000 A 16,800
01 HXNHHBHELS 67,200 84,000 A 16,800
OsEs2 28 NE 67,200
s DwMIY stis X&E 67,920 174,000 A 106,080
308 XX EHH SOl 67,920 174,000 A 106,080
01 HIXNHHNBNEES 67,920 174,000 A 106,080
O=ge DWMIEH stitga X 67,920
A= gAH XA 232,667 186,000 46,667
308 XXIEHH SOl A 232,667 186,000 46,667
08 mFJ20UstE=x 232,667 186,000 46,667
o= S4H X& 232,667
=& 2s0l0l=84dH 2% XN (=2) 27,400 27,400 0
= 27,400
308 XX EHH SOl A 27,400 27,400 0
= 27,400
01 X HHILEXS 27,400 27,400 0
=& 2s00lssdH 29 A& 27,400
= 27,400
dEsge RSEEXN 2=XE 140,960 140,960 0
308 X EHSOIA 140,960 140,960 0
01 HIXNHHNBHEES 140,960 140,960 0
OXE2=sde |RSIEXN #=sXE 140,960
dE=sgo 84 3,498,264 2,179,648 1,318,616
= 2,158,966
< 1,339,298
ZEE s =24 30,000 30,000 0
201 L2l 25,000 25,000 0
03 A2 I 25,000 25,000 0
os0gly 24 25,000
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B & 5,000 5,000 0
Os0HUHe s2g342 HME S 5,000
sHoHN =4 148,500 101,500 47,000
202 04 tl 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
OsocH sS4 ALE 3,000
307 glz2+ol & 145,500 98,500 47,000
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2N s3I
Hu: YUSY AW FH(SFHLLM/5Y - 55)
ool Mmool S4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 32,900 0 32,900
22 s XNJME 23 32,900
202 oddl 7,200 0 7,200
01 S LHOYI 7,200 0 7,200
Osgola N Y2 EX 7,200
308 MXIEHSOIH 181,200 181,200 0
01 HXNHHBHEELS 181,200 181,200 0
OAN=ZH? sZAAXNZME X 48,000
o=0 22N 22EHY HA 133,200
ddsge 24 - XA 308,000 169,000 139,000
308 XtXIEHH SOl A 308,000 169,000 139,000
01 AXHHILEES 308,000 169,000 139,000
oY FHegs N& 20,000
OoadEsYe FHIg 25 XN 180,000
Oslis XA 108,000
HFUsgo dsd= XNJA(HNE)(=2) 24,000 16,750 7,250
= 12,000
< 12,000
201 Let249] 18,000 10,750 7,250
= 9,000
< 9,000
01 At 22l 18,000 10,750 7,250
OFE s MY T} £ S 18,000
= 9,000
< 9,000
202 oddl 6,000 6,000 0
= 3,000
= 3,000
01 = LH o4 1l 6,000 6,000 0
OFHEA AR 6,000
= 3,000
< 3,000
HUso d=sd8& A (XN)(2F1) 1,751,686 724,020 1,027,666
= 1,556,000
= 195,686
308 XX EHH SOl A 1,751,686 724,020 1,027,666
= 1,556,000
< 195,686
01 X HHBLEXS 1,751,686 724,020 1,027,666
oFd=sge FFEXNAS XE 1,717,686
= 1,522,000
< 195,686
OFUsAN M 2% S 34,000




2N s3I
HE: YRS I B (SYHLLM/5Y - 55)
oelr MRSl S4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | = 34,000
ZRASENY g (s Lt/ = 33,051,959 53,124,197 A 20,072,238
= 1,624,663
s 23,161,000
< 8,266,296
s -s& 349 2435 3,348,633 2,344,610 1,004,023
= 376,233
< 2,972,400
HsHE 285 F& 321,600 352,250 230,650
308 MHXIEHMSOIH 321,600 352,250 230,650
01 HXNHHNBHELS 321,600 352,250 A 30,650
OHA=e FHXA 252,600
OHsHE MSIIZ 24,000
OZRAZ 8 g 2] 45,000
SAQ sERI KNI AL ( 140,000 140,000 0
307 gl2tol & 140,000 140,000 0
02 IZtF M AHE L 140,000 140,000 0
OZANE sERX XA 140,000
SN sERX NAANZ)(=1) 228,000 252,000 224,000
= 190,000
< 38,000
308 XXM SOl A 228,000 252,000 A24,000
= 190,000
= 38,000
01 IXNHHBNEES 228,000 252,000 A 24,000
OZANEY sERX XA 228,000
= 190,000
< 38,000
Hselo & XN (21) 39,000 19,500 19,500
= 30,000
= 9,000
308 XtXIEHHSOIA 39,000 19,500 19,500
= 30,000
< 9,000
01 AXHHILEXS 39,000 19,500 19,500
o=l & XA 39,000
= 30,000
< 9,000
SESSHEA =AY KA (XX SHH) (& 8H) 165,000 0 165,000
308 X EHHSOIA 165,000 0 165,000
01 HIXNHHNBHEELS 165,000 0 165,000
O=EZSSHIA A X2 (HEH) 165,000
SE2Z 243 =2 2,298,800 243,200 2,055,600




M s3I
B YASENY BA(STHLSM/5Y - 5E)
H?: =g =& 2F 243 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
202 Od4dl 9,000 10,000 21,000
01 = LHA YI 9,000 10,000 A 1,000
Oszog 285 J2Fa 9,000
307 2I2t0l A 240,000 40,000 200,000
02 HAHFHAANGFEX 240,000 40,000 200,000
O=sZHMg 2& 88 40,000
OLASHHE N2E 43 =Y 30,000
Of= sHELUE A3 170,000
308 XX EHHSOIA 163,800 193,200 A 29,400
01 AXNHHEBANEES 163,800 193,200 229,400
SENEgs20S HEgss 29 N&E 28,800
O=s0ELE 22 XA 135,000
403 XIS E X201 H 1,886,000 0 1,886,000
01 *XSHMA=2EE 1,886,000 0 1,886,000
OsHEUE AlZEd e X& 1,670,000
O=ZENEs20ls AHEHY - HESSs ANLE
3 s 216,000
ME0g2ed 18 N2 (4gLs)(=20) 30,233 30,660 A 427
= 30,233
308 XX EHH SOl A 30,233 30,660 AN427
= 30,233
01 AXSHBELS 30,233 30,660 ANA427
O=ENgs20is 9&2ds 1= 30,233
= 30,233
MEH=s 2435 Xd(212) 126,000 42,000 84,000
= 126,000
308 XXM S0 A 126,000 42,000 84,000
= 126,000
01 AXNSHHBLAEES 126,000 42,000 84,000
OMEIE= 43 XA 126,000
= 126,000
sE2Z0|8 &= 1,559,826 1,621,487 A61,661
= 1,188,430
< 371,396
sEAZ =M 84 N (=2) 1,111,250 1,274,030 A 162,780
= 913,250
= 198,000
308 XXM S0IA 1,111,250 1,274,030 A 162,780
= 913,250
< 198,000
01 IXNHHBANEES 1,111,250 1,274,030 A 162,780
O=sZMNESL0IS AR MHE 1,069,760




2N s3I
B YASENY BA(STHLSM/5Y - 5E)
CHelr SEZIIN 2B (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 871,760
< 198,000
O=sEQE MHA XIS 41,490
= 41,490
sEAZ=N 24 N (BEE2Y)(=21) 71,203 72,090 A 887
= 71,203
307 21201 A 4,984 5,000 A 16
= 4,984
02 HAFHAANSEEE 4,984 5,000 A 16
OsENEgs202 22494 XN& 4,984
= 4,984
308 A EHHSOIA 66,219 67,090 AB71
= 66,219
01 AXSGHBLELS 66,219 67,090 A871
Os=sZEXdgs2d0s 2€te XA 66,219
= 66,219
JHEEAZ(2D) 26,373 33,367 N6,994
= 21,977
< 4,396
308 XXM SO0l A 26,373 33,367 N6,994
= 21,977
S 4,396
01 IXNHHBNEES 26,373 33,367 N6,994
OZ&ABHAF= 26,373
= 21,977
< 4,396
sSENESEMLSE (ME - 22) (&) 169,000 0 169,000
403 XIS E X201 & 169,000 0 169,000
01 XM A=2EE 169,000 0 169,000
SENF SIS (ME2Z) (M8 169,000
SEEH X3 (=2) 55,000 58,000 A 3,000
= 55,000
308 MtXIEHSOIH 55,000 58,000 A 3,000
= 55,000
01 AXSHBLELS 55,000 58,000 A 3,000
OsE=H X& 55,000
= 55,000
SERSHAH XN (=21) 127,000 0 127,000
= 127,000
308 AXIEH SOl A 127,000 0 127,000
= 127,000
01 HIXNHHNBMNEES 127,000 0 127,000
OsERsidd X 127,000




2N s8I
HE: YASERY HASHSYHY LM /5Y - &)
SR SEBIIY 25 (29 a8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
|| = 57000
SEXNY g 28,143,500 49,158, 100 A21,014,600
= 60,000
Fag 23,161,000
= 4,922,500
lgs MsZE 022 =D| 4,837,500 6,297,000 N 1,459,500
201 gBt24 | 27,000 27,000 0
01 AP 2t 2| H| 17,000 17,000 0
OXNEE 29 L 240t2 Al& 17,000
03 Al A H| 10,000 10,000 0
OJIgE™ Ms&E HES 10,000
202 044 10,500 15,000 A4 500
01 2L I 10,500 15,000 A4 ,500
OJIgd™ Ms=E 012t =& 10,500
403 XX SHS K20 & 4,800,000 6,255,000 A 1,455,000
01 XIS A=Z2E X 4,800,000 6,255,000 A 1,455,000
OJIZEE MsZE 0S| 2,400,000
OZ=20t= 24 H X& 2,400,000
sEXNGHY 24 10,000 10,000 0
201 et d| 10,000 10,000 0
01 AP 2t 2| H| 10,000 10,000 0
OsZXNY9NEAS N2 24 10,000
FOFE OISCUHED N (=24 RAMEH) (=D 120,000 120,000 0
)
= 60,000
o 60,000
307 QI2t0| ™ 120,000 120,000 0
= 60,000
=} 60,000
02 A2t AMAIE E X 120,000 120,000 0
OF0UFE ISCHEI (s HSNRAMH) 120,000
= 60,000
& 60,000
sESAMNEH(HNEXR)(=ZD) 1,317,000 3,766,000 N 2,449,000
= 1,317,000
403 XX SHS K20 & 1,317,000 3,766,000 N2,449,000
Fag 1,317,000
01 XIS A2E X 1,317,000 3,766,000 A 2,449,000
O=sZZAXNELF}(LAZXF) 1,317,000
Fag 1,317,000
SESAMNESHI (LB R)(=ZD) 12,078,000 21,187,000 A9,109,000
g 12,078,000




2N s3I
HE: YASENL BAS (SYHY2L /52 - 55)
Chel sEXY e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 UHXSHHSA=0l& 12,078,000 21,187,000 29,109,000
s 12,078,000
01 HXHMA=LE X 12,078,000 21,187,000 A 9,109,000
O=sZSAXN L3 (LERF) 12,078,000
s 12,078,000
ANzgg2s(=21) 974,000 663,000 311,000
ras 974,000
308 XXM SO A 974,000 663,000 311,000
s 974,000
01 IXNSHHBMNEES 974,000 663,000 311,000
OANzZHEdst 974,000
s 974,000
ANZGe(AZE)(21) 484,000 1,002,000 518,000
s 484,000
403 A X EHHS =0l A 484,000 1,002,000 A518,000
s 484,000
01 X SHHX2E = 484,000 1,002,000 518,000
OANZAZH(AlZE) 484,000
as 484,000
SE NEY ZEAANY(Z2D) 5,880,000 2,940,000 2,940,000
s 5,880,000
403 UHXSHHSA=0l& 5,880,000 2,940,000 2,940,000
s 5,880,000
01 X ESHHMA=LE L 5,880,000 2,940,000 2,940,000
Os& ME"d A 5,880,000
s 5,880,000
I=MENE=4(21) 2,428,000 527,000 1,901,000
as 2,428,000
403 XIS E =0l & 2,428,000 527,000 1,901,000
s 2,428,000
01 HAXSHMA=2EE 2,428,000 527,000 1,901,000
OJI=MENEsH 2,428,000
s 2,428,000
SENS 48 Z2SAE SN 15,000 0 15,000
403 XIS S X201 & 15,000 0 15,000
01 AXSHMA2E = 15,000 0 15,000
O=Z0t2 MEHO ZSsAE EXXA 15,000
HE2AZH (sF ) (JIEH/IIE) 72,066 64,829 7,237
Jl=&l 72,066 64,829 7,237
2A2Y Jl23tl 72,066 64,829 7,237
201 2et24d] 46,686 40,229 6,457




2N s3I
H: HHE2HAH (SZ M) (IIEH/IIE)
chel: Jl= 2| (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 36,686 30,229 6,457
OFRN2Y AR 22l 36,686
02 2324l 10,000 10,000 0
OFA(ZHHEAS=HII) BES 10,000
202 Odl 14,580 13,800 780
01 =S LHAYI 14,580 13,800 780
ORM2E =U0H 14,580
203 R =&l 10,800 10,800 0
01 JI22L S =8 6,600 6,600 0
o= 6,600,000 6,600
04 RENSELRF=LH 4,200 4,200 0
©2521 0l ot 350,000& x12& 4,200




